Math 121 - Test 2 May 24 2012

Question 1: Evaluate the following limits, if they exist. If a limit does not exist but is co or —o0, state which

with an explanation of your answer.
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Question 2:

(a)[4] Determine all values of x at which tangent lines to y = 2x* + 3x®> — 9x + 1 are parallel to the line
y=3x—-7.
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(b)[6] A particle has displacement at time t seconds of s(t) = t>—12t*436t metres, where t = 0 corresponds
to the present.

(i) At what times t is the particle at rest?
Seloe V&) = &' (4) =0
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(i) What is the velocity when the acceleration is —6 m/s??
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Question 3:
(a)[3] Compute () if f(x) = 1C_°Z;X.
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(c)[4] Determine an equation of the tangent line to y = 1/x + /x at the point where x =1 .
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Question 4:

4x ;%“
(@)4] Determine £'(0) if £(x) = -2 = 4 (et )
/ ..i. — .3.
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(b)[3] Differentiate g(x) = xsec(1/x)

9' ()= () sec(x)+ % sgc(’-};)-l:m\. () %H]
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\—
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(c)[3] Differentiate y = (3t — 1)*(2t + 1)
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Quest_ion 5:

e 1 1 A '
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(b)[3] Differentiate y = tan®(sin 6)
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(c)[4] Determine the values of the constants a and b so that the line 2x + y = b is tangent to the parabola
y = ax? when x = 2.
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